
 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 1 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

LANSFMC10 

Installation Instructions 
Lankota Shark Fin for MacDon and Case IH Flex Draper Heads 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 2 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Numerical Parts List 

Part Numbers Description Qty 

LANSFMC10W Shark Fin for MacDon & CIH 1 

LAN18A 3/8” x 1.0” Carriage Bolt 2 

LAN3718 3/8” Serrated Flange Nut 2 

LAN93314A 1/4”-14 x 1.0” Self-Tapping Hex Screw 2 

Preparation 

1. Attach desired header to the combine.  Lock the head to the combine. 

2. Raise the head off the ground and lower the safety stop on the feeder house cylinder. 

3. Raise the reel all the way up. 

4. Set the parking brake on the combine. 

5. Turn off the combine engine and remove the key. 



 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 3 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Pictorial Parts List 

LANSFMC10W (1) LAN18A (2) LAN3718 (2) LAN93314A (2) 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 



 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 4 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 1 

Refer to Figures 1 & 2 

1. Clean the center of the head between the center canvas and the 
sickle bar. Expose the two center nuts. 

2. Remove the shown nuts and their carriage bolts. 

Figure 2 



 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 5 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 3 

Refer to Figures 3 & 4 

3. Replace the hardware with the provided carriage bolts (LAN18A). 

4. Install the shark fin and retain with the 3/8” nuts (LAN3718). 

5. Square the fin with the head by eye and tighten the bolts. 

Figure 4 



 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 6 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 5 

Refer to Figures 5 & 6 

6. Install the 1/4” self-tapping screws (LAN93314A) and tighten. 

Figure 6 



 

12/1/2017 www.lankota.com   |   Lankota Inc. Page | 7 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 


